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A RA B C9I(S) - MSAY - BES Ol &t = HIDE
OHETIIESSALE 24
6,000,000 14| 6,000
OFHYX & HE8 WS
15,000,000 * 14 15,000
301 LetENHS 5,000 10,000 £5,000
14 JIEt24=2 5,000 10,000 25,000
OfXcldll) Za=3 5,000,000 14 5,000
303 Za= 3,000 3,000
01 X&b= 3,000 3,000
OHBOIYLRIN A4S
3,000,000 * 14| 3,000
AEH LHESH 16,000 13,000 3,000
308 AFXIEMISOIE 16,000 13,000 3,000
13 SO 2 SOTHEE 4 EASAI I 16,000 13,000 3,000
Moo AlAE S22
16,000,000 * 14| 16,000
SI2ZAL - HRHE 2E 628,700 576,100 52,600
SN0 HRAY 2E 628,700 576,100 52,600
aSAHHR T2 607,400 551,800 55,600
201 LBHEEHI 397,400 341,800 55,600
01 AR2t2lH] 397,400 341,800 55,600
Oggt=8ZH| 397,400
SR = 4,400,000 7021 308,000
cxErAR(SaAIS)
1,000,000& 5024 50,000
CcDNRWBA £¢
200,000 «4H = 12& 9,600
cAE0NN X SE&
1,000,000& %105 10,000
cHNEHEES 7,000,000 *14] 7,000
cEMaE =SE 10,000,000 » 14 10,000
o&HE FMA =& 140,000& *202 2,800
303 Za= 10,000 10,000
01 2= 10,000 10,000
OAs I L= 10,000,000 x 14 10,000
305 a2 S 200,000 200,000
01 that=S 200,000 200,000
Oastia= 200,000,000 *14] 200,000
HEMHIA WS 20,100 20,100
201 Zet=gH| 20,100 20,100
01 At 22|l 20,100 20,100
Oggt=82H| 20,100
cHNEHBAAE MB
16,500,000 * 14| 16,500




2N SH LA
SRIAA - HEHH P
EEX0 YUY 2Y

A RA B C9I(S) - MSAY - BES Ol &t = HIDE
| owuzs a== 300,000+ 122 3,600
SENHFHIEE 238 1,200 4,200 £3,000
202 Ot 1,200 4,200 £3,000
01 =LA 1,200 4,200 £A3,000
Oased 20,0003 x3&»203 1,200
HH2IBH(2AR) 24,400 33,900 £9,500
=234 24,400 33,900 9,500
Jl=238H] 24,400 33,900 9,500
201 Let=EH| 15,800 18,000 22,200
01 At=2t2(Hl 15,800 18,000 22,200
Oget=EH| 10,200
CHHAR U MM BE 7Y
300,000+ 12 3,600
oAE 4| 150,000& 12 1,800
=J|E =E4| 300,000& * 12 3,600
ocAan2EAN ¥ ADHES
100,000 x 12 1,200
O=gtl 5,600
=J|2gfs8 SA
8,000 *14 +50! 5,600
202 Ot 5,600 12,900 27,300
01 SHoIH 5,600 12,900 27,300
O=L0d] 80,0002 x 14 +53] 5,600
203 HE=EHI 3,000 3,000
M 2EASSLRFAYI 3,000 3,000
OFA2EERFAY| 250,000 128 3,000




